VERBAL REASONING TEST B
VR B

| Pupil’s Name | | Date of Test |

| School Name

| DATE OF BIRTH

Day Month Year
PUPIL NUMBER SCHOOL NUMBER |
[0] [0]| January — 1990 —
[11 [1]| February —_ 1991 =
[0] [0 [o] [0] [0 [0] [0] [0 [o] [0] [O] [0] [O] [2] [2] | March | 1992 =
oy oy onrooroneon oy o1y o onoronrone o [3] [3]| April | 1993 &
Please mark 21 2 [2 21 2 [ 21 @ [2 2 @2 [2 [2 [4]| May | 1994 4
Bl [ B B B [ Bl [ B B @B [ [3] [5]'| June | 1995 &4
H H [41 41 [4 [ M M@ 41 [41 [4 [ [ [41 1[4 [6] | July | 19% &4
Ilke thls H' [51 5] [5] [81 [8] [8] [51 [51 [51 [5] [81 [5] [8] [7]| August — | 1997 =
[6] [6] [6] [6] [6] [6] [6] [61 [6] [6] [6] [6] [6] [8] | September 1| 1998
7w mmm 7w ommm m [9] | October | 1999 &4
B [8 [8 6 [8] I[8] B [8] [8] 8] B [8 I[8] November | 2000 [
[91 91 @ M@ [9 [9] [91 99 91 @ [ [9 [9 December =1 20001 =
EXAMPLE
p g = w — s c 3 w f O
a = | = a 43 = h = h =3 e X 0 =3
i 3 0o n — 0o a 3 p =3 c =3
n =3 b = t 3 = v 3 t 3 t 3 a
t O e O e O y =3 'O
—_
(|
EXAMPLE
race [ flag = scrap [ material tunnel = motorway [ read [ manuscript broken 3  sprain [
shop 1 end 1 peace [ fragment junction = tarmac = write journal — twisted = accident 1
stat = begin = fight cut 1 bridge 3 subway [ watch [ scribe injure 3 fractured
EXAMPLE
A O A O A O
B =3 B B
butter 1 jam — inside 1 moorland I machine 3  engine C = C = C =
bread [ margarine outside 3 exterior invention fuel = D = D = D =
oil 3 sandwich [ indoors [ city 1 crane [ petroleum [ E O E O E O
A A A A O A O Annie
B = B = B = B = B = Emil = EXAMPLE
C o C =4 cC O cC O C O Cathy dark —1 new
D &= D = D &= D = D = Ben 1 white = young I
E O E O E O E O E O Dave old bad ==
cards 1  cricket = scales [ song [ music 3 strings kennel 1 hoof 1 autumn 1 freezing
chess 1  boxing swimming 1 plumage pianist 3 orchestra 1 paw [ antler flying =3 blistering =
ludo 3 tennis chips 1 nest 1 keys [ fiddle bone [ calf 31 falling 3 cutting =3
@ EXAMPLE
fireworks 1 seasons [ portrait book =1 red 3 jumper van [ star fish = chips =
stars 1 meteors 1 artist I legend garden — house = man play — fore 3 cast
rockets CJ weather landscape 1 hiography green = rose 1 rep 1 age I cell lair 3
book tone roof 3 door match 3 jet &3 hay &= tree end 1 here 1
chap 1 are 1 nest 1 draft 3 way [ stance oak 1 wood [ trip hive
page [ ant trap egg sub dance straw [ berry arc dive 3
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0] [0 [0 [0 [0] [0]
o o ooronr oo
2R [R @2 [

Bl B B Bl B [
EXAMPLE M4 4 [4 4 M4 @
March = climb = erratic 3 fountain = cedar eclipse 1 Bl [ 5] B B[]
Monday = tumble — reliable — pothole =1 oak I morning 1 (6] (6] [6] [6] [6] [6]
July = ascend 1 unpredictable spring forest 3 sunrise 1 7 7w
December fall = steady —1 whirlpool = sycamore [ horizon = (8] (8] [8] (8] [8] (8]
Christmas = descend irregular crater squirrel 1 dawn O [ o eoE el
EXAMPLE
weary [ money [ A ORE 1 OUR = CON = T0T = FIR
sad salary B & LD = USE MIN =3 T00 & NIT =
fatigued 1 wallet [ PAT TOR = SON = LOT = ORN =
tired 3 wage 1 D =4 0AK = ows = SUM = oW = URN =
faint — income E O3 SAD 1 ORE = RAT TAT =3 FUR &
EXAMPLE
FIG = SET = POT AZ HN = KD = oM = MT =
TOD TON = ATE = cY &3 GM = JE & NQ = MS —
FUN — TAN = ROD = EX & GL = D = 0P = 0S =
HIM = SON = ANT = GW — HM = KL = NT = QS =
FAN = ANT = AGE —I IV = EL = JD = 0T = 0T =
EXAMPLE
JK &= TH & KL = map chop strip 3 wrote [ groan 1
MN = u = RP = tap rich &3 exits 1 floss great
NM = VH = SQ = tip = crop [ steep flows front 3
KL = UH &3 JK =3 hat ™ prim 3 pixie roost giant =
ML = T = Q0 = mit 1 chip = tripe 3 roses [ faint 1
EXAMPLE
herds 3 tripe 3 sell the child he went lalso = now just 1 she attempted 3
widen 1 diner = fall = child fell — wentup also love =1 just whisk = attempted the 3
wider I tepid 1 fell — fell over = upto = love eating whisk in =3 the climb =
wears [ rapid 1 fall = overthe I tothe 1 eating chocolate 1 inthe 1
wands [ dined tell 3 the stone 1 the attic 3 chocolate eggs 1 the cream
EXAMPLE
he ached ™= allthe ™= | have 10 & 25 27 30 = 14 =43
ached all &3 the rabbits have always —1 1 = 31 =3 28 49 ™ 18 =
allday — rabbits hopped 1 always been 1 13 &3 36 29 25 16 =
day long = hopped away beenon 18 ™4 26 1 30 &4 34 20
ontime 19 = 24 ™ 24 ™ 31 = 10 =
EXAMPLE
40 ™ 56 1 14 & POSH —1 MAJOR — QPTY = TULIP 3 FLON =
38 64 21 = PAD 1 METAL uydd = STAMP 1 RMPB 1
42 ™ 20 18 ™ ROBE — MAGIC — PLUM — STRAP I NQLF =
44 ™ 68 —1 15 = ROAD = MODEL =1 VZKK = TRAMP 1 NMLB =
32 65 1 17 &4 DRIP 1 MOGUL = VZMM = STRUM — RQPF —
DROP = GPBN —
LAMP =1 CLXJ =
LIMP = ENZL =
DEAL = CPXN =
DAMP — CNXL =
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